Lesson 4.4

Homework Answers

Pg 204 - #1-4, 7-13, 15, 19, 21, 28-36
Pg 209 - #1-9

Pg 204 13) Yes; AABD = ACBD by SSS:

so /A= /C by CPCTC

1) Z/PSQ = /SPR;
SQ=RP:PQ = SR 15) KL = KL by Reflexive POC so the

A'sare = by SAS

2) AAS; AABC = AEBD;

/A= /E;CB=DB; 19) a) Given

b) L lines form right £'s

DE = CA by CPCTC ¢) Right /' sare =
_ _ d) Given
3) SAS; AKLJ = AOMN ; e) Defn. of segment bisector
£K=20;23=2N; f) Reflexive POC
KJ = ON by CPCTC g) SAS
h) CPCTC
4) SSS; AHUG = ABUG ;
/H=/B; /HUG= /BUG; 21) Prove AABE = ACDF by SAS since
ZUGH = ZUGB by CPCTC AE = FC by subtraction.
7) AABD = ACBD by ASA: 28) C
BD = BD by Reflexive POC;
AB = CB by CPCTC 29)C
8) AMOE = AREO by SSS: 30)D
OE = O_Eby Reflexive POC; 31)B
/M = /Rby CPCTC
9) ASPT = AOPT by SAS: 32)¢C
TP = TP by Reflexive POC,; 33) a) AKBV = AKBT : yes; SAS
ZS = Z0by CPCTC b) CPCTC
10) APNK = AMNL by SAS: 34) ASA
ZKNP = ZLNM vert. /'sare =
KP = LM by CPCTC 35) AAS
11) ACYT = ARYP by AAS: 36) x = 10 + (180 — x)
CT =RP by CPCTC X =95
95 and 85

12) AATM = ARMT by SAS:
ZATM = /RMT alt.int. £'sare =
ZAMT = /RTM by CPCTC




Lesson 4.4

Homework Answers

Pg 204 - #1-4, 7-13, 15, 19, 21, 28-36
Pg 209 - #1-9

Pg 209
1) (-3,-7)
2)(5,2)

3) no solution

(23

5) infinitely many solutions
6) no solution
7) infinitely many solutions

8) (8, 17)

o(2-4




